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| 2 6 1 Xunas 21,9 21,9 21,9
2 KYXHS1 8,6 8,6 8.6
3 Tyanet 1,2 1,2 1,2
4 BaHHasn 2,1 2,1 2.1
5 Kopugop 7,4 7,4 7,4
6 NoaXusa 6,6 6,6
NTOIo: 47,8 41,2 21,9 19,3 6,6
| 2 7 1 Xunas 22,0 22,0 22,0
2 Xunasi 13,0 13,0 13,0
3 KYXHS 10,1 10,1 10,1
4 Tyanet 1,2 1,2 1,2
5 BaHHasn 2,4 2,4 2.4
6 Kopugop 8,8 8,8 8,8
7 nogxus 6,6 6,6
NTOrIo: 64.2 57,6 35,0 22,6 6,6
| 2 8 1 Xunas 21,9 21,9 21,9
2 KYXHS 10,2 10,2 10,2
3 Tyanet 1,2 1,2 1,2
4 BaHHas 2,6 2,6 2,6
5 Kopugop 4,6 4,6 4,6
6 noaxuvsa 6,6 6,6
NTOrIo: 47 1 40,5 21,9 18,6 6,6
| 2 9 1 Xunas 19,4 19,4 19,4
2 Xunas 13,7 13,7 13,7
3 KYXHSA 10,4 10,4 10,4
4 caHysen 53 53 5,3
5 Kopugop 11,4 11,4 11,4
6 nogxxuvsi 4,9 4,9
NTOrIo: 65,1 60,2 33,1 27,1 4,9
| 2 10 1 Xunas 15,9 15,9 15,9
2 KYXHS1 7,8 7,8 7,8
3 Tyanet 1,2 1,2 1,2
4 BaHHasn 2,2 2,2 2,2
5 Kopugop 2,9 2,9 2,9
6 nogXXuvsi 3,1 3.1 3,1
NTOrIo: 33,1 30,0 15,9 14,1 3,1
BCEIO no ataxy: 257,3 | 229,5 127,8 101,7 | 27,8 19,2
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